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LAW
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

) . , 5. Assertion (A) : An accused
Requirement of ‘reasonableness (b lled
runs like a golden thread through {3 crson canno h.e comtlile eb
the entire fabric of fundamental o glve 'S urm
rights is held in impression,  except  for

. comparison.
(A) Keshavananda Bharthi V. Reason (R) : It amounts to
State of Kerala self incrimination.
(B) Indra Sawhney V. Union of Codes :
India (A) Both (A) and (R) are true
(C) Vishaka V. State of and (R) is the correct
Rajasthan explanation of (A).
(D) Maneka Gandhi V. Union (B)  Both (A) a.nd (R) are true
f Indi and (R) is not correct
ot India explanation of (A).
(C) (A)is true, but (R) is false.
‘Right to life” does not include (D) (A) is false, but (R) is true.
‘right to die”. It has been held in 6. Which of the following writ can be
case of issued against the usurpation of
(A) P. Rathinam V. Union of Public Office ?
India (A)  Writ of Mandamus
(B) Bandhua Mukti Morcha V. (B) Wr%t of Certiorari
Union of India (g) gr 1t Oi Su%‘gm anto
(C) A.K. Gopalan V. State of (D) . rit ot Fro 1 ition
Madras 7. Consider the following statements :
i . I.  Equitable ownership always
(D)  Gian Kaur V. State of Punjab pre-supposes the existence of a
legal ownership.
Fundamental Rights are II. When property is given by A
. . to B for the benefit of C, B
(A)  Unrestricted Rights becomes the legal owner and
(B)  Absolute Rights C the equitable owner. ‘
(C)  Restricted Rights Il In  many cases, equity
recognizes ownership whereas
(D)  None of the above law does not recognize
ownership owing to some flaw
) . ) . or defect.
Right against “Double Jeopardy” is IV. Contingent ownership is spes
guaranteed under successionis
(A) Article 21 Codes :
(B)  Article 20(1) (A) I, I and III are correct
. B) II and III are correct
Atticle 20(2 (
© %C e20(2) (C) TandII are correct
(D) Article 22(1) (D) I and IV are correct
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oa=A - 11

T URTS § U (50) SE-Torehedid U9 € | Ueeh 9T ok &Y (2) 31k & | |ft Ul h IR T |

“IfeFTIRIT SRl STUET, TIUT LT h G
T Hifeleh SIIhRT & THoT o] d 9
STt &, I8 FTeTiad § W T E

(A)  hIEME] TR T e T
(B) 351 WEAT S WRA HH

(C)  ToreTeRT ST T T4
(D) T T S R 9

S & AYPR T G BT SRR
Tt &l € | T8 Fetetad o §
TS

(A) . AW S 9IRS T
(B)  SY3T HfeRT Hidl AT YR T
(C) U, MUt -9 TS I3

(D) I R S USTE T9

Hiferer SRR

(A)  SWidafd AR E |
(B) U1 YR ¥ |

(C) Ve SR E |
(D) SHFATFETE |

ey @A & fabg AR &l TR
FEfeAEd & 3T ol STl &

(A) =T 21

(B) 31 =% 20(1)
(C) 3T 20(2)
(D) &% 22(1)

S.

ANTHT (A) : MYgFT AT,
A T o ford, 3 3
H BT T & o faaer &

Tor e ST G € |
HROT(R) ;T ST SN B
g

ETAE

(A)  (A) 3R (R) AT ¥F & 3R
(R), (A) 1 Fel TEETE |

(B) (A) 3R (R) JH | € AR (R),
(A) T el TLTHT FET § |

(C) (A FTE, W (R) amm% |

(D) (A) 3A ¥, /R (R) TA |

A FECE B EREAN & a5

f=ifeRd 9 & o 41 ‘R ST foman s

HFaTg ?

(A) TR o

(B) SONUI T

(C)  3TYFR I=3T H o

(D) ufduy o

TATAREd el W e i

[ 9o @ gasr  fatae
e o e T JaEH
FIATE |

II. 59 ‘A’ §RT ‘C’ o f&d o folT ‘B’
I gEI <1 S 7, df ‘B’ ot
W@ qer C’ ArEeT W@ g
SATE |

II1. =g | fafqar |, arer @b
I AT St §, STafeh ot shiqua
I AT FH & FROT WNHA H
AT T&T e 8 |

V. GHIE @it T G € |

He :

(A) LIugIIEEre |

(B) I USIIEEE |

(C) IWIEEE |

(D) IITEIVEIE |
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10.

Assertion (A) : Ownership s
not only a juridical concept
but also a social concept
and an instrument of social
policy.

Reason (R) : The right of
alienation is not a necessary
incident of ownership.

Codes :

(A) Both (A) and (R) are true
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D)  (A) is false, but (R) is true.

H.L.A. Hartis a

(A)  Linguistic philosopher

(B)  Realist philosopher

(C)  Socialist philosopher

(D)  Post-modernist philosopher

Match List — I with List — II and
select the correct answer using the
codes given below :

List -1 List - II
(Theories) (Jurists)
I. The general 1. Kelsen
will theory
II. Justice as 2. Ihering

common good
III. Law as a 3. Rousseau

means to
achieve social
ends
IV. Grundnorm 4. Finnis
theory
Codes :
I I IO Iv
A 2 4 1 3
) 2 3 4 1
< 3 2 1 4
D 3 4 2 1

Paper-1I

11.

12.

13.

14.

X, plamtiff found a parcel of notes
on the floor of Y, the defendant’s
shop. Who is in possession of notes ?

A X

B) Y

(C) Government
(D) BothXandY

Consider the names of the
following natural law jurists :

1. Morris II. Stammler
III. Rawls IV. Jerome Hall

The chronological order in which
these jurists appeared on the scene :

(A) IV,II, Tand III
(B) LIIL II and IV
(©) ILILIVandI
(D) IL I, Iand IV

Which of the following is principal
organ of the United Nations ?

(A)  Human Rights Committee

(B)  Economic and Social
Council

(C) International Labour
Organization

(D)  International Law
Association

India is not a party to

(A) International Covenant on
Economic, Social and
Cultural Rights, 1966.

(B) International Covenant on
Civil and Political Rights,
1966.

(C)  Optional Protocol to
International Covenant on
Civil and Political Rights,
1966.

(D) Convention on Elimination

of Discrimination against
Women (CEDAW), 1979.
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FAT(A) : @HA T HaA Th
fatye ducam & oug T
qmEisTs |9 Ud |t

i =T ST A E |

HROT(R)  : RO & 3NEUFR
e T SATEvas SATAeTor
TIE |

e :

(A)  (A)TH (R) IH Wl & 3R (R),
(A) FT e LT |

B) (A) T (R) 3w E W=
(R), (A) T T&l T[T Tel
g

(C) (A TEE, R (R)TATE |

(D) (A) T &, W] (R) TENE |

TO.UAT. B &

(A)  oTerg i

(B)  TLEaS! qeIeh

(C) THSERE! RIS

(D)  IWR-SYFHHATER! IS

T - 1 G — 11 9 gofed s

T = f5u U el il weEar 9 @

TR HT AT HIAT :
L | e - 11
(Frg=) (fafira=m)

[ 9O BT H 1. o
g

[I. 9T 9AE o 2. TeR
G T =

III. 9msier ofedi 3. &4l
H Wa *
e F BT T
fafr

IV. e & 4. TR
e

&

I I I IV
A 2 4 1 3
@) 2 3 4 1
© 3 2 1 4
@ 3 4 2 1

11.

12.

13.

14.

X’ SRy A, Y’ Uideml S 5
YT TR 12T T Ueh URIeA U fepam | 3
T2l R ThqhT T & 2

A X

B) Y

(C) W&=R

(D) XTudY A

Ihiae Taty & gty fafemmet &
frferfiaa A R o S

L Ealices) II. AR

. o IV. SR
wEl om e 3 fafusmmet w1 g
g, & :

(A) IV, 1L 1Sl

(B) LILIUTIIV

(C) ILILIVTSI

(D) ILILIT IV

TIRT T T TF ST =i § F
FEAATE 2

(A) UHATYSR FE

(B) 37Tk U HTHIRTeh URER

(C) SR 97 Ta

(D) I fafy ¥@9

AR = foTRad o1 Jefeh &l &

(A) RT3k, TmEISEh e
R SRR T, 1966

(B) SR AMRE Ud IeTHITdeh
TR TETeRT, 1966

(C) IR AT U ST
AFPR  TEERT, 1966 W
wifeseh SUEy

(D) TWieen fovg wWEWE IO
TteRT, 1979
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15.

16.

17.

Treaty, in principle, binds the

States parties to the treaty. A State

becomes party to the treaty by

(A)  signing the treaty

(B) ratifying or acceding to the
treaty

(C) enacting domestic
legislation to implement the
treaty

(D) enforcing the treaty by way
of conduct

Which of the following can request

the International Court of Justice to

give an advisory opinion ?

(A) State

(B)  General Assembly

(C) International Law
Commission

(D) Individual

Read Assertion (A) and Reason (R)

and with the help of codes given

below, point out the correct
answer.

Assertion (A) : To promote and
encourage respect for human
rights is one of the purposes of
the United Nations.

Reason (R) The Charter of
United Nations conceptualizes,
substantiates and spells out
human rights which are to be
promoted by the member
States.

Codes :

(A) Both (A) and (R) are true,

but (R) is good explanation
of (A).

(B) Both (A) and (R) are true,
but (R) is not a correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-1I

18.

19.

IL.

III.

IV.

Match the statement in List — I
with its author in List — II and with
the help of codes given below,
point out the correct answer.
List - I List - II

(Statement) (Author)
International law is 1. John
not true law but Austin
positive international
morality.
International
customary law is
deemed
automatically to be
part of common law.
Opino juris sive
necessitatis is not a
condition precedent
for the existence of
international custom.
General Assembly
Resolutions, in
general, do not create
legal obligation to
comply with them but
a resolution
recommending to an
administering State a
specific course of
action creates some
legal obligation.

Codes :

2. William
Blackstone

3. Michael
Akehurst

4. Hersch
Lauterpacht

(A)
(B)
©
D) 4
According to  Muslim law,
marriage is not solemnized only for
the sexual enjoyment between two
spouses, it is an act of ibadat.

(A) True

(B) False

(C)  Partly true and partly false
(D)  None of the above

W N =
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15.

16.

17.

J-5810

YTk dR W, G, T & qeT
gty & 9 Sy € | FEfafea &
TR U Wi T T&ThR & STl €

(A) I 9 R EEIER FHh

(B) W H HE W AT SHH
TR

i Toranfara e o ford =Re]
T TR HEAT

3R & SR T ] HRAT

©

(D)

RIS =T T WHREET T 3
% ford fr=foafaa & 9 &M FagT &=
HHATE ?

A T

(B) wErawm

(C) I fafy s

(D)

E2IEx

AMTFUT (A) 3R FHROT (R) UG 2R

= 53 Fel @ WEEdr ¥ TE W

ERIERE

AMFHUT(A) 1  AHAEHRI H
o PR # g & 3R
3 I e W T h
A A THE |

HROT(R) @ G AT AT 40T
AHAMYHRT T T,
MY el & 3R Tesst -

Fh IT Uedl ¢ T 9eH

T ERT T AT AT E |

(A)  (A) 3R (R) I I €, W
(R), (A) &1 3TH TLEEHOTE |
(A) 3R (R) THT I €, R
(R), (A) T T&l T[T Tel
-

(A) T &, W (R) ST E |

(A) 3T &, W (R) TAE |

(B)

©
(D)

18.

19.

et — I & 2T T GEt — 11 & oiEehi

Y eI e 3R A1 f§3 e I e
T Tl IR IdES
T -1 et - 11
(HU) (§ieED)

[ IRy fofy gadem 1. 9
TFRHF IR
EIREIE

[I. REE v &y
H WEfd ®9 9
[GIEACIC IR Rt
SAre |

I JRET w2
HiSTeT o i <3ttt
SRY RSl
Fafgefew gder o
TE

IV. e &y,
AT, 3ok o
% A S @
gied & €, W= A
AT S M A R
FEER w AT
foen S & o P
FEAT M 30
FATE |

&

(A)
(B)
©
(D)

gfeer fafy & SR, &R 9 & &g
Torae 1 3= % =19 7= o o
T R ST €, e TS A |
(A) |F

(B) e

(C)  iTeTeh g el 3iferep frvea
(D) Sude | 9 g TRl

2. TateEw
AR

3. Hrgehel

4. B9
AT

]
—

I I

<

W=

3
1
1
3

N AW
—_— N s
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20.

21.

22.

23.

24.

Which of the following is not a

ground for Divorce under Hindu

Marriage Act ?

(A)  Cruelty

(B) Desertion

(C)  Adultery

(D)  Incompatible
Temperamental Adjustment

Children born out of a union which
is either void or voidable under
Sections 11 & 12 of Hindu
Marriage Act, 1955 shall be

(A) Bastard

(B) Deemed to be legitimate

(C) Illegitimate

(D) Legitimate

A. Nikah is a regular and
permanent form of marriage
among Muslims.

R. Muta is contractual form of
marriage and iS  most
uncommon in India.

(A) A and R above are correct.

(B) As correct, R is false.

(C) Riscorrect, but A is wrong.

(D)  Neither A is correct nor R is

correct.

Which of the following is not a
ground for divorce under the
Dissolution of Muslim Marriage
Act, 1939 ?

(A)  Treating the wife with cruelty.

(B)  That the whereabouts of the
Husband have not been
known for a period for more
than four years.

(C) The Husband has been
sentenced to imprisonment
for a period of two years or
upwards.

(D) That the husband has been
insane for a period of two
years or more.

Any Hindu Marriage which is not
properly solemnized, it shall be

(A) Vald

(B)  Voidable

(C) Void ab-initio

(D)  None of the above

Paper-1I

25.

26.

27.

28.

An acceptance given by post

(A) can be revoked at any time

(B)  cannot be revoked at all

(C) can be revoked, if it does
not reach to the proposer

(D) can be revoked, even if it
comes to the knowledge of
proposer

A promise to pay time barred debt

is

(A) not enforceable

(B) enforceable at the discretion
of debtor

(C) enforceable under exception

(D)  none of the above

Which of the following statements

is correct ?

(A)  Third party can always sue
for breach of contract.

(B) Wagering agreements are
illegal.

(C) When consent is not free,
agreement will always be
voidable.

(D) Catalogue is an invitation to
offer.

Two statements are given in this
question. One is labelled as
Assertion (A) and the other is
labelled as Reason (R). Examine
these statements and select the
correct combination of the codes.
Assertion (A) : Partial
acceptance is not acceptance.

Reason (R) Acceptance
must be  absolute and
unconditional.

Codes :

(A) Both(A) and (R) are correct.

(B)  Both (A) and (R) are wrong.

(C) (A) is correct, but (R) is
wrong.

(D) (A) is false, but (R) is
correct.
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20.

21.

22.

23.

24.

J-5810

feg foome atfufm & oiava faame-
forg & o 3R fitera 7 @ 9
WIS ?

(A) eI

(B) o=

(C) <IR=H

(D)  SHeT &9 GHEST

feg Toame stfufrm, 1955 &t &wT 11
g 12 % A I AT IR
=S {oaTe 9 3o o= ant

(A) ST

(B) o w3 S

(C) ooy

(D) =4

A. [t 8 fer Hafma i)
I fTaE |

R. YT UaRTcHsh &9 7 [9ame & 31X
TR | eNieeh SEied ¢ |

(A) AFRRIATEE |

(B) A TEIEIRRMmeEE |

(C) RTEE AR ATAIE |

(D) AAATIEIARTRTEE |

Tfeer foare fage sfuf=m, 1939 &

ST Tt T 3MER F=iehd 7 |

FA AT ?

(A) U % g eI & 9
SRR LT |

(B) TR 98T ¥ ST o qHT 9 U
% N Y g TR TR ¢ |

(C) dfd @l & A1 SI=T @ & fod
FHRIEM 1 5 et |

(D) IR N H I ITAE |

FiE ot g faaw s st w1 4
TS & fehal T &, BT

(A) =¥

(B) ¥

(C) IRNTTE I
(D) 3UYFI H G IS Tal

25.

26.

27.

28.

TTeh 5T &1 T WHIT

(A) T Ot T uiqEeRa @t ST
TFATE |

(B) &t off UiqweoT & i ST
TFATE |

(C) 3R T TE® F qE Tl
g € ol SHRT MITEe<uT foha
T HHATE |

(D) T TE VAT H SRR |
3 ot ST, THeRT WicTexoT o
ST FhATE |

SHTATAT 0T 3 Tl UiasT

(A) YeHE TRIE |

(B) IR  TWHER T
g

(C) AEE & 3idqTd yeaig ¢ |

(D) 3w H ¥ FE T |

f=ifehd o A A S AR € 2

(A) HigsT & W FH W gdE ue
HIS A1E SR P FHATE |

(B) ST & o 3O & |

(C) <9 @eHlq w@Wa= T@ g, dr
HfersT TSa IRONT BT & |

(D) gl O TR T SHAUTE |

3@ U H 3 % 8 T €, U @l
AMTFIT (A) 3R TH H FRIT (R)
8T AT € | T HeAl i S Y AR
el o el WA T =TI A |

ANTHAUT (A) @ 3TT9TH i,
TR TR E |

: WHE QO SR
IIRTEd g @med |

HROT (R)

C T

(A)  (A) IR (R) T TEIE |

(B) (A) 3R (R) I TATE |

(C) (A) WEE, W< (R) T € |

(D) (R) &g, W (A) TATE |
Paper-11



29.

30.

31.

32.

33.

A counter offer is

(A) aninvitation to offer
(B)  an acceptance to offer
(C) arejection of the offer
(D)  aconditional acceptance

An agreement with minor is void,

hence

(A) Minor is never allowed to
enforce such agreement.

(B)  Minor is allowed to enforce
such agreement, if it was
made for his benefit.

(C)  Minor is always allowed to
enforce such agreement.

(D)  Minor is allowed to enforce
such contract when other
party makes no objection.

Tort is a violation of

(A) Right in personam
(B) Right in rem

(C) Both(A) and (B)
(D)  None of the above

Which of the following is not
correctly matched ?

(A) ubi Jus ibi — where there is a

remedium  right there is a
remedy

(B) resipsa  — things speak for
loquitur themselves

(C) damnum - damage without
sine injury
injuria

(D) injuria — Injury with
sine damage
damnum

Limitations on the scope of the
doctrine volenti non-fit injuria are
(A) Rescue cases

(B)  Statutory authority

(C) Both(A) and (B)

(D)  None of the above

Paper-1I
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34.

35.

36.

37.

38.

Injustice would manifest itself if a
person is held responsible for all
consequences of his act. Therefore
he is responsible only for
consequences not too

(A) Remote

(B) Near

(C) Inand around

(D)  Far sighted

A. Law of Torts is concerned
with allocation and
distribution of losses and
awarding compensation to the

victim.
R. This is a branch of Ilaw
governing actions for

damages for injuries to
private legal rights.
(A)  As correct, but R is wrong.
(B)  Ris correct, but A is wrong.
(C) Both A and R are correct.
(D) Both A and R are wrong.

A. The consequences of a
wrongful act may be endless
or there may be
consequences of
consequences.

R. The ‘Test of reasonable
foresight’ is followed usually
in such cases which is based
on the Wagen Mound case.

(A)  Ais correct, but R is wrong.

(B)  Ris correct, but A is wrong.

(C) Both A and R are correct.

(D) Both A and R are wrong.

Conspiracy is an offence having

mens rea without any actus rea ?

(A) Yes

(B) No

(C)  Depends upon circumstances

(D) Depends upon judicial
discretion

The right of private defence is
available to
(A)  The aggressor

(B) The person who has
attacked

(C) The aggressor and the
victim

(D)  The act done in defence of a
person who was attacked
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29.

30.

31.

32.

33.
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34.

35.

36.

37.
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39.

40.

41.

42.

43.

In abetment of an offence can be
constituted by

(A) Instigation

(B)  Conspiracy

(C) Intentional aid

(D)  All the above

Buggery is an offence against

(A) Having carnal knowledge
with a woman.

(B)  Offence committed without
use of force.

(C) Depravity against
order of sex.

(D) Manipulation and
movement of male organ.

natural

Illicit intercourse implies

(A) Rape

(B)  Prostitution

(C) Sex between two persons
not wunited by lawful
marriage

(D)  Sex with a sleeping woman

A police officer arrested and
detained a girl in the lock-up
despite bail order. The police
officer shall be guilty of

(A) Kidnapping

(B)  Abduction

(C) Intimidation

(D)  Wrongful confinement

Assertion (A) : Priest in a
temple is a workman for the
purposes of the Industrial
Disputes Act.

Reason (R) He cannot be
considered as a workman as
he is not doing any manual
or clerical services to the
devotees of the temple.

Codes :

(A) Both (A) and (R) are true
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-1I
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44.

45.

Consider the following judicial
decision on the meaning of
industry :

L. Indian Red Cross Society V.
Additional Labour Court,

Chandigarh.

IL. Dhanrajgiri  Hospital V.
Workmen.

III.  State of Punjab V. Kuldeep
Singh.

IV. Prema Govinda V.
Karnataka Small Scale
Industries Association,
Bangalore.

The correct order in which these
judicial decisions were rendered is

(A) ILII, Iand IV
B) HILI,IVandI
(©) IV,IILIandII
(D) IL L IIand IV

Consider the following statements
on industrial dispute.

I.  Industrial dispute will subsist
inspite of closure of industry.

II.  An industrial dispute can arise
when a demand is made by
the workman and denied by
the employer.

III. Once a dispute is referred for
adjudication, the presumption
is that it is an industrial
dispute.

IV. Employer’s failure to keep his
verbal assurances is an
industrial dispute.

Codes :

(A) TandII are correct.
(B)  II and III are correct.
(C) I and IV are correct.
(D) I, II and III are correct.
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40.

41.

42.

43.

J-5810

T H URVT FEATANEd & FRT
G & FheT € :

(A)  3HIE

(B) wEaA

(C) T TErT

(D) ST |

ArSaTsit FEferiad o foaeg STy @
(A) S Gy AT

(B) &1 W1 o o1 foma atomy
(C) A = WP Y & Toog
SR

TGN 37T T SEAVET Tal T

farfer foreg G 1 SR

(A) FATHR

(B) s

(C) fafyad foaw g7 9 S
oA o S A T

s & = ffsra o & @ 99
G

et STHER TR i TREAR foran
3R ST & 3R o A 39
T B Wk @ | g STHhRI

(D)

(D)

TrATeTRae T STORTH &

(A) U (B) ugom

(C) oMEE (D) WEWURY

FAT(A) : TH H H PRifed
AR oo etufem &
TS o {oT0 hHPR & |

FA(R)  : 3H FHBR @1 A
ST GehdT, it o8 WG &
TFITON o {7 hTE STRING 4T
fefuesria & TR Far g |

He :

(A) (A)TE (R) IHI Wl E 3R (R),
(A) FT e LT |

(B) (A)TdE (R) I Wl &, W (R),
(A) I TE TR TR E |

(A) TEE, W (R) T € |
(A) TAT 8, ] (R) TET & |

©
(D)

13

44.

45.

M % Jg W F=fafea =taes
o R foam it

L 30T Yehi@ Hi9Eel s

1. ORI
FHHR

I  OST ToF 99 Fefald (8
IV. DA SHM FAR® e

ST o-H

W e e g FoE @ g :
(A) ILILIwIV
(B) ILILIVTSI
(© IV,ILITSII
(D) ILLIIwEIV

s fooe e et
FHIAT W IR iU

[ i fgar o<t & e
AReTeel § &1 @ |

II. U AfiTeh foere Sca=T &l Tehd
2, 59 SHHHR & gRI HIe HT
U 3R fisTeh ST TR

T

L. S/ & Tt faamg &t =ma-foe &
foru e fera <tren € @ Syaron
F S € R T uw TRt
foa e |

V. a9 51 @WE % Hifgs

YA I G A | Tasherar
T SR famg € |

% :

(A) 1TEITEE |

(B) I Ud I E |

(C) IITEIVEIE |

(D) LITHITE |

Paper-1I



46.  Unfair labour practices mean any

of the practices specified in the

(A) Fourth Schedule of the
Industrial Disputes Act

(B)  Fifth Schedule of the
Industrial Disputes Act

(C) Sixth Schedule of the
Industrial Disputes Act

(D) Third Schedule of the

Industrial Disputes Act

47. Which of the following is not a
leading case on immunity of trade
unions from criminal proceedings ?
(A) Jay Engineering Works Ltd.

V. State of West Bengal.

(B)  Standard Chartered
Grindlays Bank Ltd. V.
Grindlays Bank Employees.

(C)  Onkarnath Tiwari V. Chief
Engineer, Minor Irrigation
Department.

(D)  Piperaich Sugar Mills Ltd.

48.  Which of the following pairs are

not matched ?

Read the following paragraph and
answer the Question Nos. 49 and 50.

Protection of society and stamping out
criminal proclivity must be the object of
Law, which must be achieved by imposing
appropriate sentence. Therefore, law as a
cornerstone of the edifice of “order”
should meet the challenges confronting the
society. In operating the sentencing system
law should adopt the corrective machinery
or the deterrence based on factual matrix.
By deft modulation sentencing process be
stern where it should be and tempered with
mercy where it warrants to be. The facts
and given circumstances in each case, the
nature of crime, the manner in which it
was planned and committed, the motive
for the commission of crime, the conduct
of the accused, the nature of weapons used
and all other attending circumstances are
relevant facts which would enter into the
area of consideration.

(A) Individual — Newspapers
dispute Ltd. 49.  What is the object of law ?
whether Allahabad (A) Safeguarding  individual
industrial V. Industrial interests.
dispute Tribunal. (B)  Permitting the individual to
(B) Meaningof - Western earn and become rich.
Employer Automobile (C) Protection of society and
Association stamping  out  criminal
V. Industrial proclivity.
Tribunal. (D)  None of the above.
(C) Solicitor’s — National
profession- Union of ‘ 50. While imposing sentence what are
pOt an Commercial the relevant considerations ?
industry Employees (A)  The nature of crime only
V.‘Industrlal (B)  The manner in which it was
Tribunal. planned and committed only
(D) Go-Slowas - Bijay (C) The motive for the
a serious Cotton Mills commission of crime only
case of V. (D) All the above are relevant
misconduct Workmen. considerations
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46.

47.

48.
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